Tema 7. Llocs geométrics

TOOLBOX

Lloc geomeétric | excentricitat Equacié Altres
Circumferéncia 0 (z —x0)*+ (y —yo)? = 1% | C(z0,90), radi r
y? = 2px V(0,0), F(%8,0),r:x=-1%
Parabola 1 z? = 2py V(0,0), F(0, g)’ ry= —%
(y —y0)* = 2p(x — x0) | V(zo,90), Flwo+5,m0), r:x=20—5
(. —20)®> =2p(y —wo) | Vi(zo,90), F(wo,yo+5), r:y=yo— 5%
2—;—&-%.2:1 F(c,0), F'(—c,0), a®> = b* + ¢?
El lipse D<e<l it F(0,¢), F'(0, —)
(ogol® | Wog0l® — 1 | F(c+ 0, 0)s F'(—¢ + w0, 90)
(m;gﬁO)Q + (ngof =1 F(zg,¢+ o), F' (20, —c+ yo)
%—Z—j:l F(c,0), F'(—¢,0), ¢ = a® + b*
Hipérbola e>1 Zé — %; =1 F(0,c), F'(0, —¢)
(ao) _ gl — 1 | F(c+0,0), F'(=c + a0, %)
(—go)® | eom)® _ g F(xo,¢+yo), F' (20, —c+ yo)
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